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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

76- Last night, a bomb blew up the train ... the enemy soldiers were traveling.

1) which 2) by which
3) that 4) by that
77- Katy and Paul ... each other since they were children, and they have a very close relationship.
1) would know 2) know
3) have known 4) are knowing

78- He can’t speak any foreign languages. If he could speak English at least, he ... a better job.
1) gets 2) would get
3) got 4) has gotten

79- In 1923, the American explorer Roy Chapman Andrews and his team were the first people ...
dinosaur eggs in the Gobi Desert in Mongolia.
1) they found 2) found 3) to find 4) who they found

80- William Shakespeare is widely ... as one of the greatest literary figures in the English language
and the world’s greatest playwright.
1) informed 2) regarded 3) recited 4) compiled

81- His paintings were so ... that they require no signature for identification.
1) emotional 2) unique 3) decorative 4) invisible

82- The football player will be difficult to ... when he leaves the team since there are very few Iranian
playmakers and Iranian teams are not permitted to sign foreign players in the professional

league.
1) replace 2) convert
3) recommend 4) demand

83- After escaping from prison and leaving the country illegally, he’s living under a false ... in
Canada now.

1) confidence 2) identity 3) protection 4) situation

84- Employees are expected to ... their responsibilities seriously and carry them out conscientiously.
1) make 2) give
3) get 4) take

85- The subject he was discussing was so ... that I lost track after the first couple of sentences and
couldn’t figure out what he was saying.
1) dedicated 2) comprehensible
3) complicated 4) distinguishable

86- In many poor countries, there are not enough mental health services to meet the ... of patients.
1) needs 2) injuries 3) means 4) duties

87- We want the government to take ... of what we think they should do for single parents.
1) attention 2) notice 3) habit 4) note
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.
The Trans-Siberian Railway ...(88)... by some as the most memorable journey on Earth. Measuring
nearly 9,300 km, it is ...(89)... and takes approximately a week to complete. It is one incredible train
journey from Red Square to the Great Wall, crossing Siberia, Mongolia, the Gobi Desert and

++.(90)... in the great city of Beijing. The journey has captured the ...(91)... of travelers from far and
wide since construction began in 1891. Although officials have been building this line since 1891, it is
still being ...(92)... today. The original Trans-Siberian railway was built from Moscow to
Vladivostok on the orders of Tsar Alexander III.

88- 1) has been described 2) that described 3) which is described 4) has described
89- 1) the most longest railway lines of the world 2) the longest railway line in the world
3) the longest railway lines of the world 4) among the longest railway line in the world
90- 1) arrive 2) to arrive 3) arriving 4) arrives
91- 1) communication 2) generation 3) location 4) imagination
92- 1) respected 2) destroyed 3) expanded 4) founded

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

PASSAGE 1:

If you get really hot, your body sweats to cool down. If you’re too cold, your body shivers to warm
up. If germs enter your body, you get a fever, an abnormally high body temperature. Sweating,
shivering, and having a fever may seem like bad things, but they are all healthy reactions. They show
that your body is working well. And all of those reactions begin in a small part of your brain.

The hypothalamus is only about the size of an almond, but it does very important tasks. One of its
jobs is to control your body temperature. Your body usually stays at a regular temperature, but that
temperature can sometimes change. For example, during a fast game of soccer, your body
temperature rises. The hypothalamus quickly sends signals to your sweat glands. When the sweat
glands create sweat, your body begins to cool down. It soon returns to a normal temperature. The
hypothalamus also works when you are ill. When bad germs attack your body, it makes white blood
cells. These signal the hypothalamus to raise your body’s temperature.

You now have a fever. Your skin may look flushed and feel hot to the touch. Your body loses water.
The rise in your body’s temperature helps to Kill the germs. A fever is also your body’s way of telling
you that you’re sick, so you should take care of yourself. Your hypothalamus is very hard-working!

93- What is the main reason the author has written the passage?
1) To tell people how not to get sick 2) To explain why people sweat
3) To explain what the hypothalamus does 4) To share opinions about sweat glands

94- What probably happens when the cause of a fever goes away?

1) The body shivers to get warm. 2) The body returns to a normal temperature.
3) The body temperature rises. 4) The sweat glands work hard.
95- Based on the passage, what advice would a doctor probably give to a person with a fever?
1) Do not get plenty of rest. 2) Keep your body hot.
3) Double up your medications. 4) Drink a lot of water.

96- Which of the following is defined in the passage?
1) Germ 2) Signal
3) Almond 4) Fever
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PASSAGE 2:

What does a professor in Bangladesh have in common with a cowboy in Canada, a lawyer in London
and a shopkeeper in Soweto? Not much, maybe, but they do share some things: firstly, they can all
probably speak the same language, i.e. English, even if they also speak another language. Secondly,
they are all citizens of the Commonwealth.

The Commonwealth came into existence in 1931 when Britain gave independence to four of its most
important colonies, Canada, South Africa, Australia and New Zealand. The five countries decided
that although each was an independent state, they had a lot of things in common, particularly a
common cultural heritage, and they would continue to keep close links in a lot of fields. They also
agreed that the King or the Queen of England would be the symbolic head of state even if each
country was free to govern itself in the way it wanted to.

In many ways, the Commonwealth is like a smaller version of the United Nations, made up of most
of the world’s English-speaking countries with the exception of the USA. After the U.N., it is the most
important organisation in the world in which rich developed countries (like Britain, Canada, and
Australia) can discuss cultural and economic questions with developing countries.

Unlike the United Nations, it does not have any permanent assembly. Heads of government from
all Commonwealth countries meet once every two years. However, there are also regional
Commonwealth conferences, where countries from all continents of the world come together and

discuss the problems of their continent or region.

97- According to the passage, the most important factor that made Britain and its previous colonies
found the Commonwealth was having ... .
1) a common history 2) a common cultural heritage

3) independence 4) a common language

98- Which of the following is TRUE about the Commonwealth?
1) It is as important as the U.N.
2) Its member countries are from all continents of the world.
3) It is made up of all of the world’s English-speaking countries.

4) The King or the Queen of England is the real head of its member countries.

99- The word “They” in paragraph 2 refers to ... .

1) the five countries 2) links 3) fields 4) things in common

100- There is enough information in the passage to answer which of the following questions?
1) When was the Commonwealth founded and where is it located now?
2) What percent of the world’s population have joined the Commonwealth so far?
3) Is it possible for other countries to become a new member of the Commonwealth?

4) What are some similarities and the differences of the Commonwealth and the U.N.?
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